O ALY <

SE2AH&HS :  C00000083702023000271 Zaouzt: 2023 129 27
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2 & 2 HE LJEL z2
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MY Ar2ol 8E4E=3 170,000,000 224,480,000 54,480,000 SAH] 4,0008x 2308 2442=224,480,0008
d

MY Aae of A7 170,000,000 224,480,000 54,480,000

Hed A 170,000,000 224,480,000 54,480,000
LOIYEEE MH|AE 2T 777,454,0008
*50% =388,727,0002
EQIAR| 2SR EALY (M EUHM R HE)Ex S
2,473,200 * 30%=741,9602
EQINS SR ALY (BAZS=R0|68F) 225
229,160,0009* 30%= 68,748,000%

519,540,560 554,604,560 35,064,000 e

EQIAR|ES A EALY (BYAIZ0[36F)2E 25 121,320,000

M H* 30%=36,396,000&
QISR HAIY A UHTH)EZ S 24,732,000
*30%=7,419,6002
EQIAR|ES A EAY R FOotS M =20|52F) 225
175,240,000« 30%=52,572,000&
(AH_MEA LS Y)A| Y B Ut S 2N Y E 2F 6,500,000

253,160,000 6,500,000 246,660,000 2
227 5| 202314 128 27% 154] 482 562

1/26




446,009,320 455,471,520

2/26

9,462,200

 100.00

HARYOIIEZ MR FEZZ 6,600,0009* 42 7|
=26,400,0002

QIS SR ALY (UM R HE) EZ S
2,473,200 * 35%=865,620&

L OIALS| SR HALY (B AR 20|36 ) EZZ 121,320,000
H* 35%=42,462,000

(SE7]) AAHEAIY 2 22 36,4009
- FEA 20020 2F* 91

DESA (AU EHAIY E R Z 3,135,000
- HAIH| 20094+ 45 * 1058] =945,000¥
Al 2,000 * 45H + 72 =630,000

H| 130,0002* 122 =1,560,000

02 I

D2 A (AAHHHENA B Z 2 2,092,800
- ZBEA 2009 243 % 3662 = 1,756,800
H Al 2 0002 * 24H * 72 =336,000

LoIRESESMHEABRRF 777,454,000
* 25%=194,363,500

EOIAMBESAEME RMEAHFO)ERT 24,732,000
*30% =8,656,200

SAAA RN M E 2T 60,0008 * 318 * 128 =22,320,000

22 A (ZERATHAIY 2 ZZ 9,000,000

- ZHEA 2009 * 100H * 3142 =6,280,000%
EHAl 2 0002* 100H * 72 =1,400,0002

29H| 110,0008* 122=1,320,000%

OIS S S A HAYE (A ZESER0|683) 22T
229,160,0002!* 35%=80,206,0002

O 24ILIS0|E2F 2,300,000% * 28|=4,600,000&

EQIAME B S A HAME RIFOHSMEI = R0|528) 22T
5,240,000 * 35%=61,334,000

< 2072 17221 279l 1Al AQH. CA=x
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2,344,164,320
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64,699,300

4 100.00

FEE (BEREEAIEE 2T 21,577,5008
S AH| 4,300 * 458 * 1058|=20,317,500
- E84 4,000 45F * 72 =1,260,000&

A|

L)
T

A EHSIAIY E 22 100,373,000

QA S A MALY M EAUHFO)EZF 24,732,000
*30% =8,656,200

EQIANS| SR ALY R FOtS M =2 0|52H) 225
175,240,000 * 35%=61,334,000&

QIR EEMH| AR ZF 777,454,0008
*25%=194,363,500%

EQIASIES A HALY (BRI F0[36F) 225 121,320,000
2* 35%=42,462,000&

(% A7) AAMHEAIHE ZF 691,600
254 38002 23+ 912

7| sB LA ERZ 51,040,000
- A7 | A S *” 2w 27,850,000
- AH[EZ(221) 23,190,000
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—

ERIEE
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i

T SOt ZHLH|=F A2 1,050,0002
S| H2FEH4ERZ 1,577,554,000
SAASFA| 22 E (Y 112126F) 9,300,000

FEISAEZASMYEZ S 124,120,000
ZH Al 3.8002* 1008 * 3142 =119,320,0002
EHAI 40002 * 100 * 72 =2,800,000¢

- 2YH| 2,000,000

LINESESFYOEMOTREERF 23,170,000

L QIAEIE S 2| AR (M EFOIZA X 7 M| 2
2,473,200 * 35%=865,620&

e A (AAHIE)AIE 225 34,051,200
F54] 3,800 * 24+ 3669 =33,379,2004

- E”Al 40002 243+ 72 =672,0002
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- 137,434,500

Mg

137,434,500

M

Mg

4 100.00

H|Z| %3212 15,000,000

oX

o
o
ol

4 35,363,760

« 35,363,760

 100.00

ZH S 600,000 * 12&=7,200,000&

14|0|E{3H I &1 7|2 5,000,000

- FHAASOHEMLTHAY 50,000 * 20 =1,000,000H
- HAASO 2 UM EZAIR 50,000 *

=2,000,000%

- FHAASH2USYEZ A 50,000

=
=

7|EfA| = 2&F 15,000,000

Il

|2f A S0

o

|o

(S2_AM2E)s
=

S|y 2E 3o

Mg

Mg

~ 35,363,760

4 100.00

"M HIAY=#=) 50,000,000

Mg

r
1)
ol

Mg

M

4 4,452,220

0.00

3,562,874,200 3,425,439,700
3,562,874,200 3,425,439,700
15,000,000 15,000,000
73,063,760 37,700,000
88,063,760 52,700,000
88,063,760 52,700,000
50,000,000 50,000,000
50,000,000 50,000,000
50,000,000 50,000,000
4,452,220 0
3,261,182 211,500,000

208,238,818

4 100.00

(EZ23)ANELQIZA|ZHZ ARO[ &= 210,000,000

Z+=Yo|E= 1,500,000

M
1
>
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H|A| 4 £ 2Z0[|&Z 10,000,000
01 QI Z0| Y2 6,400,000%
g 0|2 ( T oA (BURE)0| 22 619,000
59/3) 46,050,387 22,119,000 a 23,931,387 4 100.00
TES 2|45 20| Y2 (KTnGE A M EHHEH| | 212) 3,600,000
o
ZHSUTO| Y G 7| 7RIt 2) 1,500,000
o
Nl&l olga Ol 2 A 53,763,789 233,619,000 179,855,211
N O|gZ2 A 53,763,789 233,619,000 179,855,211
0 20| 2t 53,3002
0| 20| A} (A HOFS MIE| £ 20| A & 2 2) 30,0008
0| 20| 2} (22| &S £ 20|AFY B Z2) 40,0008
ol 20| 2} (HOI MU (S T)) 24,0009
0 20|AH@RYO{ZZ 2 T E 2 T) 12,0008
MY &9 &4 7|EtOil =012k 500,251 532,300 32,049 4 100.00
SRR sTE 4+¢ ’ ’ ’ o012 (3 Y2 ML) 20,0008
0| 20| 2} (] = 2 2| 2 BFAFY B 22 20,0008
0| 20| 2 (RBA X LA M AEIAIR & Z2) 15,0008
0| 20| 2 (2R BAAS HE 22) 300,000
0l 20| AHY YA ZIO|AFR B 2 2) 20,0008
S22 0|45 A47|8: ZELQISTEAE SHUAI: 2023E 128 27Y 15A| 482 56%
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7|EFZE4Q) 2,100,000
- HOIFtE 4|4 1,000,000
- ZHFALLALZ |2 EE 200,000
7|EtZ =2 3,100,000 2,900,000 200,000 100.00 - ZZAlCHH ALy 700,000
- 7|Ef&+¢d 200,000
ALS| 22|51 24L& H| 100,000 * 8H =800,0009
= 2ozl zt 2
=& E0 2 2,610,000 100,000 +2,510,000 100,00 =5 =0ZHTH= 100,0002
MY &Y e A4 6,210,251 3,532,300 42,677,951
N 240l A 6,210,251 3,532,300 ~ 2,677,951
N AA 3,930,912,000,  3,989,771,000 58,859,000
(DHAF YL MERF) 7125 (1Y) 33,867,000
20 918,076,000 957,630,000 39,554,000 10000 M H=AEIEEZS) 725 (23) 63,714,000
MZ |AtRH| QI |
(SAH2IEHERS) 7|25 (23F) 860,049,000
7|EFE M ZH| 9,300,000 9,300,000 0 10000 SAASAELIE EH%26F) 9,300,000
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(LFAR LM E 2 F) F2UAHF 39,838,000
*4.5%=1,792,5009

(DHAZAUYME R ) AZEHS 2 39,838,000
*4.0%=1,593,3009

(DEAZYAME 2 ) TEF 2 39,838,000
*1.15%=458,040%

(DAY MEZ ) M ES Z 39,838,000
*0.65% =258,900%

(SAH2IEH4ERF) F2HZ 1,000,170,000

* 4,5%=45,007,6002

(2 U2HAMEZZ) AZEHEE 1,000,170,0002
*4.0%=40,006,8002

111,901,180 114,874,010 2,972,830 4 100.00 (2| UL PHAHZT) TRESE 1,000,170,0008
#1.15%=11,502,000&

(2R S HZAAR Z3) AR ES 2 1,000,170,0002
*0.65%=6,500,1302

RE=22 24522 2) 2UHS 75,300,0002
*4.5%=3,388,0003

(RGE22 4322 2) 2ZEE 2 75,300,000
*4.0%=3,012,0002

(AYER 2SI ZZ) TESE 75,300,000
*1.15%=865,500%

(RG22 EHSERZ) A ESE Z 75,300,000
*0.65% =489,240%
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A4

179,954,030

188,888,350

8,934,320

4 100.00

(LB Y EHUE2T) 7t=5+F 840,000
(PG HUE2T) dUSAH| 1,200,000
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2,955,850
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4 100.00
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=3,419,880%
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=85,648,5602
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- 100.00
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2,720,000

9,920,000
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9,920,000
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I of 02 of
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(HAHYU=) 7IE+=SH| 1,800,000
- MAESEAZE (5F) 170,0008

- ARAZESEA 1,320,000

- SAACA| A S = (31H) 310,0008
(HAMY=S01ESZ) 7|EHZFH| 800,000

- ESTAE|=2|7| 2 2l 2] 3]H] 200,0002 « 42
(HUMYUS0|Es) 2/ L=H| 4,410,0008

- ME1% 300,000 * 58=1,500,000&

- AEC|1E 50,0009 * 82|=400,000

- ¢==H| 80,000 * 31E=2,480,000&

- 23ZH| 30,000

(HHY=) AdusH|(QF) 2,220,000
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- B8 30,0008 * 23H=690,000¥

- HZ|H|0|LE 70,0004+ 10H =700,000¥

- SH-$ Q|34 350,0009* 5% =1,750,000

- M-3Q3% 100,0009* 5% =500,000¥

- 2YH| 60,0008




4
Fu o

|E
1

33,556,000 33,782,000

226,000

4 100.00
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- EH Y3 50,000 * 82|=400,000&
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- SEHESF 100,0002 (1002]E{ /4001 )* 82 =800,000H
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Z&4+= 1,455,000
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4 100.00
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- AEHEA 56,000
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(R49) ab2F42|H| 200,000

A 15,104,000 15,200,000 96,000 4 100.00 2}Z-FFLH (6CH) 850,000 * 122 =10,200,000
AL A H| Y AR EH| (6CH) 4,800,000
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(ISEZEZRT) AL RAIE| RIS A2 =SHT 1)
27,850,0002

(HAMYUS) =R A2 S UH | @Y S2{A-228)
3,000,000

HOMA|AHIQ | 242[H| 517,000 * 12€=6,204,0002
H7|otM e (8) 418,000 * 12€=5,016,0002
ZAEE|Q2|22|H| 385,000 * 128=4,620,000
HAZMA| AR G| 2H2H]| 2,728,000

- Z7|&2|H| 660,0009* 427|=2,640,000

- AMHO0|&H| 88,000&

A7\ ] A2 H| 2,224,000

- 47| (4cH) 160,0009 * 43| =640,0002!

- TWE{T2| 396,000 * 4CH (|2 CHA Al 2= or) EF LA
)=1,584,000%

S| 82 &2[H]| 3,046,0002

- AH7||2|24H| 170,500 * 12:8=2,046,000

- SN A2 L EE LA 200,000

A 42 AH| 275,0009 % 28|=550,0002
ASHAH| | 22[H| (BH) 231,0008« 12&=2,772,0008
2B U2 gshA| 2] (141) 770,000

Ald24=7| M| 2tH[ (141) 2,370,0002
A= WA 2 4=H| 1,998,000
ZEIA| AR Q2| 22| 148,500 * 128=1,782,000¢
Y7\ /A H2H| (ZE) 130,000 1071=1,300,000¢
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Al 2H| FA|
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4% OK i H oo
Jo N on >

A2 SHUA 1 20233 128 27 15A] 48% 56%

14/26




(E2S50[83) A0tE QI =R 2A| 2H| 210,000,0008

(BAALSIEL4EZF) HIEFY 3,000,000
- HIEFM|Zd - A 7] (1C4) 1,800,000
- 7|EfH[E 1,200,000&

A AFEEH 82,171,000 239,390,000 157,219,000 (7|1 5EZERZ) AHEZ 23,190,000
- AEACH: S2H7| 0| 3,460,000
- LS AMRRZEE (1501),2 LI (170H)H| 19,730,000
(&%) BIZ5Y 1,700,0008
(H=+20l&Ea) HIEF% 1,500,000
AlAH] A% 332,376,000 305,370,000 27,006,000
Hl A7 332,376,000 305,370,000 27,006,000

7|2 2Z Y
RN

9,200,000 9,200,000 0

HLSZIALIH| 3,000,000

- HZRACHEQ|FEL 0|2 AR E) 500,0008! * 43]
=2,000,000%

- AL =E13]) 300,000

AL Q2 7]7| AL 42]) 100,000 * 28]=200,000

o

- RRIUR RIGAR|AA DA QI Z2H|S) 200,000

- BANS@AZUY, AL E2S) 300,000

ZEo|4lH| H 4 200,000 * 128 =2,400,000&

7| 53| =Ar¥H| 3,800,000

- 222 27|7| 22 E% 2|H| 200,000+ 52]=1,000,000
- 2&7|HREETY 428 200,000+ 52|=1,000,000

- 2t ae| A2 -FH| 100,000% 78|=700,0003

- 2SZ 23 30,0008 * 102]7|* 32 £h=900,000&

- AZAm Q1 200,000 * 12]=200,000¥
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s
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7|2~ A

HAMUS) MU ST IHLAR (Y7131 L 2H45F)
4,800,000%
(HAUMUT) ML Z2 IHZA] (Y7131 B 2H,455F)
3,900,000
(HUMU=) 2AZLHS| 2,500,000

- 2HE3((18]) 1,500,000

- AIE[(15]) 1,000,000
(HAUMUT) L HARISH W S22 FH| 2,950,000

3|5} QALY 66,698,000 73,800,000 7,102,000, «100.00| - Al3|ZQET2ZIMSHADZE 1,500,000
| - FMYmE WS HAREE 1,450,0008
(HeldUF) AH20|8o 2 12 FH| 500,000
Al ugE 2 IMHZALR (72070 4 2F,485) 38,845,000
AME T 2 JMZALR (A 711270124 2+,485) 17,905,000€
ZrAtE2] 400,000€
AH20|2Z 2 W2 FH| 2,000,000
REESAIAIZHEZ[H| 654,000
- QELAEALHA7|ZHES|H| 100,000 * 63]=600,000%
- QESEACT|EFZEERS|H| 54,0008 * 18]=54,000
RELEATEE 2 FH| 500,000
- M AZHMUAIREE 5 40,0009 * 55|=200,000¥
- 7|EH2ZH| 300,000
REEZAAG LS} 400,000
J|E - olAb - ZAH] 100,002 351=300,000%
3| 2H0{ 2| 2 - CtatH| 50,0002 * 28|=100,000
S ot Lo 3,354,000 2,334,000 41,020,000  « 100.00 A|L|O{ A SLHs2 AFTHAFRIH| 280,000

HOUSUAY
bl

- HALO{H| 100,000% * 28|=200,000¥
- 3 =H| 80,0002 * 1&|=80,000&
LolHel S 2w =H| 260,000

- EHZZIZAH] 100,000 * 23|=200,000
- C}atH| 30,0002+ 25|=60,000&
Q1A Z A H| 240,0008

U

A Q1 2 H| 100,000& * 22]=200,000:#
- 7|EH2EH| 40,0003 * 18|=40,000&
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JE-oly TS LA 71702 2,48%) 30,240,000
Bt W SAIS 25,900,000 30,490,000 4,590,000/ « 100.00 wF2FH| 250,000

H|

(HAHAUF) M7= R CH 4 AH2t2| 800,000
7| - Ab - SH2Ef2| RITtT 2 73) 20,0009 * 5 * 83
EIIHL* H| = 30,316,000 3,050,000 427,266,000  +100.00 (HRAHUI) M7HE 2| QL HA A YE]| 2,250,0008
- MAZZR| S 50,0008« 45H* 135]

r

Zlctm E“Hl 7,080,000
- LOIRBARIAZIPG (e AFH) 1,079,500
- I3<I7I S 2 APG (2 Lt7]) 1,057,600
- A=21R|7|543PG (RO A|7]) 1,499,500
- APEHOH = AEPG 2,253,600

- S AYATHPG 1,189,800%
A GAS| HA AL H| 230,000

- HAAZHE QI 50,0008 * 23| =100,000¥
- AAMAZEZ 15,0009 * 25|=30,000¥
- AMEHAIBZLZHERS] 48,0009 * 18]=48,000¥
7|2 - AFERAF - S| 22HE S| 2%,000%*1§|=2_4,000'°.:
o] c= 12,260,000 12,260,000 0 2100.00 - SHAHYEAFAIZIENE| 28,0002 % 15]=28,0002
HEAI-2H| 3,600,000
- RFIDZ}E 1,450%d* 1,00071=1,450,000¥
- RFIDZIEAO|A 700 * 70071 =490,000
- RFIDZ}IEZZ0|Z 9502 * 6007 =570,000¥
- RFIDZLEQIA 2| & 100,000 * 771=700,000
- RFIDZIEETA| 321,000€
- AEAIE-2ZH| 69,000

(M UT) &EAZSH| 30,0009 18 * 455=1,350,000
_?_I;I

ol

e

T

2 SHYUAl 2023 128 27 154] 482 562
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7|=-2AES
AL ALZH

14,202,000

13,460,000

- 742,000

AFHSAHE 7| L] 400,000

- ZrAHH[ 100,000% * 28]|=200,000#

- ZHAtH| 80,000 * 12]=80,000¥

- BEAYESN] 3,000 208 * 28]=120,000H
S-S ALARE| 22| Al 10,0002 * 20F * 22]|=400,000&
AHASAAZEE S| (FGI) 3,000 * 208 * 18] =60,000:2
AL SAIALSAH| (2 EE) 4,0002 * 3,0008
=12,000,000&
AHASAS-GAY 2 H| 600,000

- AFESAMASM SR Aot 2 & H| 400,000

- 7|ER2EH| 200,000

7|2-2|oe
A ERENE
bl

7,847,600

7,819,000

4 28,600

dE2YHA == 13- 6,319,000

- HI2A|Z7|ZAH] 35,000@ * 171 A 385£=1,330,000&
- ADLEEWSZALE 350008 1704 * 65£=210,000¥
- =S| OtZALR 60,0002 * 47 A% 43 =960,0002

- HEH 02 FH| 6,000 * 10F * 47 A * 45=960,000
- QIA|E|0F2FH| 20,000 * 108 * 271 4 =400,000

- 2tZH|0tf = H| 300,0002 * 12]=300,000:2

- dZerd s 200,0009* 12/=200,000

- Y¥e2|HHs 200,000 * 28]=400,0002

- URAZHE3] 212,000« 28|=424,000¥

- ZAHEEE] 100,000 * 28]=200,000

- MitHSgtgs 250,000« 12]=250,000

- HER3P/G 250,000 * 12|=250,000&

- SZ A} 200,0008 « 22]=400,000

- 23H| 35,000

AL 02| HSehE 1,300,000

- QI eI 2| 100,0008 * 12]=100,000&

- AMFEEZEA| 24| 1,200,000 * 12]=1,200,000
EQIZ Ao A2 H| (R2t7]22]9| 22]) 200,000

Lol

e

1 2023F 123 27 15A] 48& 56%
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YUg) SEETAIY 2B 8| 250,000
UT) ZAHEFTALZH| 8,600,000
YU=) E2HALH| 1,500,000

Q124 (5%) m|=H|/1=H| 500,000

HFO|ArRiH| 1,000,000

2US) SEYAH[ (O 0[E /7424 At) 10,000,000

' oF oF 0%
oM mXroroeroe
2 00 oo

!

o
15
188}

) At2| = A2y 4&H| 800,000

ZHH| 12,640,000

- E00|R|FA| 2 4=H| 1,000,000&* 18]=1,000,000&
- 7t7t2E7H Al 500,000« 212]=10,500,000¥

- A'EE 220,000 * 23]=440,0002

- HE 2}z Hi ZA{H|A 300,000 * 22|=600,000

- o Q12134 H| 50,000 * 28|=100,000

TS -
3 2 THARIH| 6,960,000

UM HES 66,340,726 45,106,000 221,234,726  100.00 = - 960,008

Abein| - AMZ|HZF 2,530,000 * 28] =5,060,0002

2AZ|EE 7603 * 1,2505 * 28]=1,900,000&
&t H] 1,080,000
A2 8SM ST (12]) 220,000
SH&'YE 1,5008 * 240E =360,000
HE24H| 100,000& * 28]=200,000&
SAH22|H| 300,000& * 13]=300,000
Rl ALH] 920,000
S HHALZIHH| 520,000
- S-S AE|HHAH| 200,000 * 22]=400,000&
A HAAGH| (F27| 2 2HE 2] S) 406,000
ArE7t2] 75,0009 * 45| =300,000
2FZHE 3] 150,0002 * 28] =300,000H
At EAHZH| 50,0009 * 1721=850,000&
MItHS At H| 500,000

' -|0|I 1

4o|| o r2 -|o||

L

oo o

Lol

e

SA2 SEYAl 2023 128 27 154 482 56z
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T

7|2 -
B MARH|

6,282,600

7,820,000

1,537,400

4 100.00

At & EH| 6,300,000

- SHEEE 200,000 * 28|=400,0002
203|411 1,200,000 * 38|=3,600,000&
- SM s & 500,000& * 28|=1,000,000&
FHEH A3 50,000 * 28]=100,000¥
Z0L7b=72171E 20,000 * 102]=200,000&

- EETZ5F 1,000,000 * 12]=1,000,000&
A2 eta|H| 1,520,0008

- ZYFH|W | 250,000 * 28]=500,000&

- | YGAAIR 2 Y 250,000& * 22]=500,000%

- FYRAFZ 22| 10,0008 * 408|=400,000

- 2F =& 78,0008 * 18]=120,0002

170,607,058

224,480,000

53,872,942

4 100.00

F5AH| 3,600 * 230 * 2442 =202,032,0002
SAALZEAL 1,200« 15 * 2442 =4,392,000¥

B2 3Y=S 650,0008 * 1H*2&=1,300,000

FLo| LI 2 (MM =/=H[H]) 708,15 150,000
FLu A=) 10,000 * 158 * 15]=150,000
SAAAZTHZE M EH| 3,000 * 60E =180,000
2D EH|S2FGH| 1,356,3333* 128 =16,276,000H

Ey=z-7
EYIIE R
JALlH|

26,400,000

26,400,000

: 20231 129 279 15A] 485 56z
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4 100.00

O 7t A| @At &iH| 26,400,000

- MEHZLZALRE 35,0008 * 374 % 385=3,990,000&

- MEQItZAtRE 35,000 * 77 2+ 38%=9,310,000

- Z|OHOf| | 2 Z A= 35,0009 * 57 4 * 385+=6,650,000
=

- ADEEWRZALR 35,0009 * 271 &% 385+=2,660,000
=

- ADEEWKZALR 35,0009 * 17 4% 325+=1,120,000
e

- M SHIOZALRE 35,0008 * 24| ZH« 17 A% 38
=2,660,000¥

- ZET07IR|AALH2FH| 10,000+ 12]=10,000¥




824,844,000

822,714,000

21/26

- 2,130,000

LOIZEZESZME|AIOT2EH| 23,170,000
- AA2F7|7| 330,000& * 57CH=18,810,000&
- 21517171 330,000 * 120 =3,960,000

- 10T23H| 400,000

HEHARFSAA=A| 22 E (4F) 1,200,000

ERIREESAMH| A B Y| 22 EH| 640,000

1
o
i)
=
oo
o
S
S
]
*
S
ox
*
oo
fon

A=A 27 41H] 19,200,000
- HEAIS|=A|A 90,0002 * 4E * 122 =4,320,000
| 2IAt 40,000 * 31 * 128 =14,880,0004

1
=
fo
N

YUY U ZHINH|=F A # 30,0008 * 358
=1,050,000%

7|25 594,620,000

- S ALS| 2 R At 2,300,000« 48 * 12:€1=110,400,0004
- MEIZ| AL 1,254,45091« 32H * 12:€1=481,708,8002

- MUMEIZ| ALST 70,0009 * 3F * 122=2,520,0002
AlZHQ| 45 18,998,040

E|21 422 49,901,000

MBI EHE 66,909,800

Arid] 2 2GH| 22,225,160

- ME WS IR 72 (Chat/M 2 /ZAH) 9,280,000

- APS|ZI{Z 2 O3 (Chat/AH 2 /ZHAR]) 2,900,0009

- EH3HAL 2,000,000

- ZIZ At 22| H| 3,000,0008

- UAHAEZ| 2 (H /S H) 30,0002 28]« 48=240,0002
- ¢34 1,000,000

- 430124 25143 30,0008+ 36+ 13]=1,080,000%

- ZHES| 4,000 * 33+ 28| =264,000H
- HjAMQE 3 2 350008 * 358 =1,225,000&
- ALRH[(OfH]/Mst2E S) 1,236,1608
ARt |H| 3,800,000
S22 3H| 21,000,000
- 2EYHE S 300,0008 * 58=1,500,000
- ZIThH] 20,0002 * 40E =800,0002
- FEofH| 13,000 * 40 * 42| =2,080,000%
JHE &S 50008 * 45 * 88|=1,800,000&
ATz = ZAL= 200,000 * 52]* 5% TH=5,000,000:2
- AthetEs ZALR 60,0002 * 72]7|* 53 TH=2,100,000&

ZIrFL=ESLEE 9U=anlirl—l 19 il AFTH o 7=1791 . A1 79 N\N\N




EXER-L
QA5 2SR
UALRLH]

467,845,200

553,225,200
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85,380,000

4 100.00

N

HEQIH A 274418 2,061,0008 * 60%* 22|=2,473,200

J

AgS =083 H| 290,000« 68H* 118
216,920,000
A3 = 0|AY 2L ZH| 12,240,000

s EH3 15,5009« 68H =1,054,000H

- OS5 H| 18,000 * 68H=1,224,000&

- ZFOAHZHERS| 3,000€ * 68H + 103 =2,040,000
- =92 7S] 8,000 * 15 * 18]=120,000

- %|ZH7t3| 50008+ 68H* 15|=340,000¥

- WSH| (ZALR) 100,0008 * 48] =400,000

- WSH| (CtatH|) 3,0008 * 68H * 45| =816,000¥
- 2FU2|A|2 5,0009* 787 =390,000&

- A2 AEAM D 550009 * 12€=660,0004

- AZ2IctergH| 3,000 * 78H =234,000€

- 23t2tEH| 45,0009 * 68 = 3,060,000

- 3| A1 ZrAH| & 200,000

- £ZH| 5,000% = 43|+ 102 =200,000

- AR EE 57,2508

- YoIZAS|BE 2 27,519,0002 % 10.5%/12% 6¥
=1,444,7502

|JHI

SYA|Z0|&SH| 290,000 * 36F * 112 =114,840,000¥
FLAZO|AHE R ZH| 6,480,000

- S22 15,5009« 36E =558,000&

- O|=H| 18,0002 * 36 =648,000&

- O A7HES| 3,0008 * 36+ 102|=1,080,000

- 2[Z9Y7t2] 5,000 * 36F * 12]=180,000&

- WH| (CI2tH]) 3,000 * 36E * 48|=432,000&

- B3 YAA|A 5,000« 463 =230,000&

- d8ZEZASAIA 550008 * 122 =660,000

- HZRITHEH| 3,000 * 46F =138,000

- =3tehEH| 45,0009 * 36F =1,620,0002

- S|AIZAHH|& 500,0008

- AHREE 143,2108

- JEQ= W sH| 50,0002

- dEQIHEAS| 2R 27,519,000 % 10.5%/12% 1&
=240,790

A|HOLSME{ =2 0| 2-SH| 290,0008* 52* 11&
65,880,000
HOLSME = 20| AFY £0H ZH| 9,360,0002

- A2 15,5009 522 =806,0002!

Il Huwul 10 "NN\NOl. r""r'd _Nn\"Hr— NNNOI




EYHZ-L

o

OIZF QIR AL 9,240,000 0 9,240,000 0.00
AStAFRH|
EXHZR-T
S+ 2,000,000 0 a 2,000,000 0.00
W FALEH|
SgEZ-& 7,920,000 0 7,920,000 0.00
Al =StAL I H| T I )
EYJEZR-F
S| CStALE 2,000,000 0 a 2,000,000 0.00
H]
(AH])ZEA] 3,80090* 100 * 3142 =119,320,000%
(AH)EZ AL 400094+ 1002 * 72 =2,800,0009
EXRZ-T (FH)ZEAL 2009+ 100 * 3142 =6,280,0009
I (A2A 132,320,000 133,120,000 800,000 100.00 (2H|)E Al 2,0009* 100 * 72 =1,400,0008
A (AlH]) €%t 2,000,000
(FH]) 1| 110,0009* 122 =1,320,000
(AIH])YELAIH] 4,30094* 458« 1053]|=20,317,500%
Exmz-o (A[H])E 4] 40008 458 72 =1,260,000%
== ; H| )& AH| 2009 * 458 * 1053 =945,0002
A (L 24,510,000 24,712,500 202,500 100,00 (TEDTA S ’
HHEL) M(i bl (FH)EHA! 20009 * 458« 72 =630,0008
=TE (FLH]) 2 H| 130,0008* 12€=1,560,0002
(E27|_A[H])ZEAl 38009 23+ 912=691,6002
(EZ7|_H|)ZEA 2002 * 2%« 912 =36,4002
Sgua-s (AJH])ZEA] 3.80021% 242 3662 = 33,379,200
2 ZAl(AlAH 36,768,000 36,872,000 104,000  « 100.00 T = 3,8008* 248 3065 =33,579,200
':F)b)lkfo*(tu i (AH)EH AL 4,0009* 24H« 72 =672,0008
=T (FLH]) 22 Al 2009 % 24% * 3662 = 1,756,800
(FH)ESA! 2,0009* 24T« 72 =336,000
EYEZ-2
v EgmE= (=1 3,000,000 0 a 3,000,000 0.00
SHHAIHH|

12023 128 279 15A] 482 56%
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e

= —_

= o -4 o

O| 25wl S A} 9,852,220 0 - 9,852,220 0.00

2|

ERHZ-A|

L|0] & &H| 5,000,000 0 5,000,000 0.00

AQH]

sg&z-al 2| 2T MBS TALRIH] 6,500,0002

HHAEEH 6,500,000 6,500,000 0  100.00 oI

AriH]

EXMHZ_E 2 AILF=0|3HAH 9% 05| = o

N ;oE . 4,600,000 4,600,000 0 4 100.00 O{2HLFSO[JA| 2,300,000 * 22| =4,600,0002

S AR AL 21|

EQHZ -3

HoJl=2| ¢ 2,100,000 0 a 2,100,000 0.00

AQLH]
S5 AfH| (0f8{0] < /7HEHAF) 7,000,000
=3 ApH| (U RH2] 824 3]) 3,000,0002
(0| 2Z) S aApH| (00| LA} 5,000,000%
ST a|H| (CMSa4 2 /28 AN UL 4 2) 500,008
7|EFAFRIH] 4,500,000%
(G 20[2F) 7|EFAFRIH] 20,0008

S 9| -H| 2| A (0| 22) 7|EFALRIH] 600,000

; = < 27,354,028 25,020,000 - 2,334,028 a 100.00 (OI%E}) A9 22|24 SEAFE H| 1,000,0002

12023 128 279 15A] 482 56%
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- 2HAH 0 ALR 60,0009 * 271 A * 452=480,000H

- EEAAL 520,000 * 12]=520,000

(0| g=) =THAIZH| 1,600,000

- 2FAEME 2 M 30,000 * 202 =600,000¥

- 7|2 A RS E 1,000,000

(O123) 2T &l o[ AtH| 300,000¥ * 62]= 1,800,000




39U-2H%

CINET

80,116,390

2,085,377,822

43,419,000

2,106,401,700

4 36,697,390

21,023,878

 100.00

(S2) 3L 2=3AASH7 IS A 2 A H| 10,500,000
(OIE3) 3L 2=FAASH7IZS A |ALH| 619,0008

223 600,0008 * 12&=7,200,000
H| 0| el | BIAF @4 H| 5,000,000
- FHAASHEMLT MY 50,000 * 20 =1,000,000H
- HAASHE LI HEZA| 2 50,0002 * 208 « 23]
=2,000,000%
- FHUASHENHLEZA| @ 50,0009 * 20E =1,000,000

=

- YA SOHEAHLEER] R 50,0009 * 20E=1,000,000
e

7|EtA| d = @ AL &H| 15,000,000
(KTnGZA| A | 0| 2 5) HEH|Z| & 3,600,0002
(CHIRIZ|S01ES) 2171718 2| [ A H| (Bf+ &) 1,500,000

=

2,085,377,822

2,106,401,700

21,023,878

827,860

253,300

a 574,560

- 100.00

(A+Y) ZA|E 253,3008

827,860

253,300

574,560

827,860

253,300

4 574,560

e
il

1 2023F 123 27 15A] 48F 56%
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ZEEHIIZ2 I E X Z0|AHEHE 12,000
G UR|Z 0| AL H 2 Z 0| A2 20,000
ARG E X ZO| A 300,000
_ B2t = o0|AIIH X HiLt o
e 4,709,518 435,000 ~47274518 10000 A ESEOAGEZFO0[AE 40,000
HE ofH[H] & 7] |of|H|H] %! 7|
= et Ef 2|2 2| 2 BPAFY B 2 20| AHH 20,0008
Z|HOotSME| =2 0|AFY 2 X 20| AFEH 30,0002
DHAZF H LM AT E X ZO| AL 15,000
A O] HIH L]
T = o
M= E} CllH|H| & Z7|E} & A 4,809,518 535,000 44,274,518
M= OlH|H| 2 7|Ef A A 4,809,518 535,000 4 4,274,518
HZ 24 3,930,912,000| 3,989,771,000 58,859,000
£ 0|45 af7|#: ZELQISEA SHYAl: 2023H 128 27¢ 15A] 482 56%
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